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Test No. : 104

CHEMISTRY

gme : 756 minutes

Maximum : 90 marks
PART A — (40 marks)

A solution of potassium ferrocyanide would contain the number of ions
2rerhcis 5 DE SaDE TSy edirad’e Hog

(a) 2 by 3

(e} 4 d) b

The coordination number ni'. eopper in cuprammonium sulphate is
Ergitsaraco ﬁéﬁﬁ’ 595 Gao¥), FoRgci :};Jq:;g Chig

(a) 2 by 3
() 4 (d) 6

The atomic number of copper is 25, its effective atomic number (EAN) in [Cu(NH,),I**
18

s> SsovE Howy 26 ecksSt, [CulNH,), I SIRE0 Sigusnd” o Bretys

S8ATe Do Sdr
(a) 35 (b)y 36
© 49 (d) 40

The oxidation number of Pt in [Pt(C,H,)Cl;] is

[PLC,H, ICL, )" & 26355 @y, esdybe Sog;esm
(a) +1 (b) +2

(e +3 (d) - +4
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Which of the following chemicals are used to manu.i':r.-:l:ure methylisocyanate that caug
Bhopal traged}"’

(i)  Methylamine

(i) Phosgene

(iii) Phosphine

(iv) Dimethylamine

(a) (i) and (iii) (b) (iii) and (iv)
(e) (ii) and (iii) (d) (i) and (ii)

&1 808 TRE° D Bdrdirarg §'ovS B)fLst SED 26 02vpHS &tyEE TETE
M 20pSaps

(i) RS

(i) $RHS

(iv) @pdims

(a) (1) SoBdin (iii) (b) (i) SoBcfw (iv)

{e) (i) SoBaoo (iii) (d) (i) BobBdio (if)
6. K,[AlC;0,),] is called

(a) Potassium aluminium oxalate

(b) Potassium tris (oxalate) aluminate (II1)

(¢) Potassium tris (oxalato) aluminate (IV)

(d) Potassium aluminium (III) oxalate

Kg[ﬂl{ﬂgﬂq_]a] bﬁ]ﬂ :}E’Jﬁﬁmsﬁi?

(a)  2erdghd eermuadhs el

(b)  2rerdpiso 130 (efyors®) vergnsds (D)

(¢) 2oLl B30 (ejers®) esargibes (IV)

(d)  2erddhss eargodchs (I11) eSS
7. Which of the following elements is poisonous to living systems even in small doses?

- &4 808 D Baredin £°8 BokosTi &5 003 DR riEHs

(a) P T () Hg

(e} Zn (d) Na
8.  Of the following eomplexes, the one optically active

& (508 05" 08 Sy ddirtes?

(a) [PtNH,) (NH,0H)Cl Br] (b)  [Colen),ICl,

(¢) transe-[Co(en),Cl,] id)  [Co(NH,),Cl,]
‘Test No. ; 104 4
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Which of the following organometallics exist as ion pairs

(a) Ethylmagnesium icdide (b) Sodium alkynide
(¢) Tetra ethyl lead (d) Diethyl zine

&0 (208 D sot0E S50 S0irRE ot BT

(a) wpSHfhcHd edral b) 2EcHD v
(©) B udddk (d) Bagd 8ok

From which of the following substitutents in the benzene ring will give Grignard re-
agent

51 208 06" b BFESY0 BoddS Soakind® HuiS* AR UL ABYW?

@ C=0 &) -COOR

() -C=N (dy -OR

Poisonsus nature of CO is due to

{a) its neutral nature (b) its mmplaﬁngahﬁ.ity with bloed

(¢) structure of molecule (d) presence of oxygen in it

CO-Go¥), DXT B Bgrsd Dookessm

() T ook, B Heerididon (b) sgmﬁwmmmmmﬁ
(0)  SrgLmS @, dugen @)  D6® e EOROLL FBBED

Which of the following is a secondary pollutant?

& 208 6" DB Bgdod exBol? (s-mzﬁﬁls-ﬁd}

{(a) CO . (k) NO
(c) PAN (d) S0:

15. The geometry of Ni(CO): and Ni(PPh,), Cl, are of

(a) Tetrahedral

(b) Tetrahedral and square planar respectively
(c) Square planar

(d) Square planar and tétrahedral respectively
Ni(CO)M 508c» Ni(PPh,), Cl, 0 Gw¥), Esnesm

(a) ;’amﬁ:au
(b) -ﬁﬁﬁ.‘g&:} HabBafan Sl Sobe
(c) Sl Sdoto

(@) o8 S 005 Sty

5 Test No. : 104
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14. The reaction C;H,N,Cl™ + CuCl H-Ell-} CsHCl + N + CuCl is known as

{a} Wurtz reaction ib) Sandmeyer reaction

() Gattermann reaction {d) Friedel-Crafts reaction

CgHN.Cl™ + CuCl ?EF CgH;Cl + N + CuCl &3 5 8c05500 HO3S85:7

(a) &b 55 (b) To&loanb i

(e)  mesbars 55 (d) M—pﬁj 585
15. The protein which transports oxygen in the blood stream is

(a) Haemoglobin (b) Myoglobin

(c) Insulin ~ (d) Albumin

85 [S508" elyaSi 5o @alS har

@ Sarfes b DEPFOS

(€)  adnds (d) eons

16. . Beckmann rearrangement involves conversion of

(a) Oxime to nitride (b) amine to acid

() nitro group to amine (d) oxime to amide |
BE5S0S PHBiginns® D 5rd)d dotio?

(8) &S m0d pPES () IS 008 et
() PS5 Bood JSH (d)  efydo jood JTED

17. Among the following which one does act as intermediate in Hoffmann

rearrangement?

¢ 208 DG 28 T 205 PIbgrgisas® SdigHm foothiin?

(a) RNCO (b) RCON
(¢) RCONHBr (d RNC

Test No.: 104 6



8. An example of electrophilic substitution reaction is

19.

21

(a)
(e}

Chlorination of methane (b}

Nitration of benzene (d)

Methanol from methyl chloride

Ethylene from ethanol

DoGHO8 (dogs rir¥) FaSno S8DH soirein

(@) RS @y, SEAS (b)
(c) Bodh Bk, Elﬁl‘ﬁ (d)
The correct epimeric pair is

(a) D-Glucose and L-Glucose (b)
() D-Glucose and D-Mannose (d)
RBEL® .'JIEJEJE e w

(&) &-KpS'd 08050 IE-KRE'E (b)

() &-KpE*E Hoddin & -3rS'E ()

236 §2E Hood 2gTS

afrd ok 808

D-Fructose and L-Fructose
D-Glucose and L-Mannose

&-FEE So8ao IE-HHE

&-KpS'E 580 IS-3rS'E

Which of the following undergo Dicls-Alder reaction?

(a) ‘Thiophen

(b)
(©) Pyrrole @
5+ 1808 06" 58 &6 g8 503585 Totod

()  BACPS (®)
© P66 @

Furanis obtained mainly by distillation of
(a) Wood
(c) Pine-wood

(b)
(d)
Boggom B Tt BabB o 2ol B8y

(a) && (b)
(&)

1S &E @

Furan

Sandal wood
Rose wood

Tolid 55

5'apt

Test No. : 104
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j8. An example of electrophilic substitution reaction is
(a) Chlorination of methane (b)

(e) Nitration of benzene (d) Ethylene from ethanol

D008 (Jogs riry) PESno S8HDH soirein

Methanol from methyl chloride

(a) HoDS Bk, S'BIAS ®) 2P EE Mol 2gTrd
() BodS Bwk, PBRS @ ags wod 2508
10, ‘The correct epimeric pair is

(a) D-Glucose and L-Glucose (b) D-Fructose and L-Fructose
(¢) D-Glucose and D-Mannose (d) D-Glucose and L-Mannose
SEELH IBWF e Koiyd
(8) &-KpE'E 28 IS-HREE ) &-F5E Sbain XE-PEE
() &-KpE*E Hobain & -3rS'E @) A&-KrS'E 28din I5-5r5'E

20. Which of the following undergo Dicls-Alder reaction?
(a) ‘Thiophen () Furan
(¢} Pyrrole (d) Pyridine
%o 208 o06* D8 &) ugh BSOSl Fokow
(a)  JAFPS ®) e
(€ &S (d) pO&S

21 Furanis obtained mainly by distillation of
(a) Wood (b) Sandal wood
(c) ) Pine-wood (d) Rose wood
Sopger B gt BabE® Hoe roll By
(@) &b ®) wosdHE
(©) pSas @) B&'EHE

A 7 Test No.: 104
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g6. Proteins when heated with Cone. HNOs gives a yellow colour is

{a) Oxidizing test (b) Xanthoproteic test
(c) Hoppe's test (d) Acid base test

2rdiSen s ds o’ DaABaim Sy S Sorw

(a) edyEte (b) robi@udans S5
() Fs0g @) esgsS8g
Which of the following has maximum number of 'H-NMR spectral lines?
&1 308 06" Bl Jiy,S "H-NMR Scioresoiin? |

(a) 11, 2-Tribromosthane (b) 1, 1-Dibromoethane

{¢) Ethylbromide (d) 1,1,2,2 Tetrabromoethane
In a reaction 2A + B = A,B , the reactant A will disappears

(a) athalf the rate at that B will decrease

(b) atthe same rate at that B will decrease
(¢) _atthe same rate at that A,B will form

(d) at twice the rate at that B will decrease
mpa:&%m+ﬂqafné'h§cﬁrmﬁcﬁoam%m
(a). B 8Kses® Srnd

b) B 806" Shrasn

(@ AuB Yoo HSsn

@  B6KS0H BodBey

The rate of a substance reacts depends on

(a) Atomic weight (b} Equivalent weight
(¢)  Molecular weight (d) Active mass
D R By Sorgditan B eorEtdo -
(a) S e (b) Booyrrdin
© oo @ @srto gSioe
9 Test No. : 104
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30. The hydrolysis of ethylacetate, ester + H,O+ acid + alecohol is a reaction of

{a) First order (b) Second order
(¢) Third order (d) Zero order
26 ohiS o sihno Auy), Eiroius?

(a) @SS ESrolo (b) Bgdah Earolo
(e) ﬁg&cﬁa Earoso (d) srdg ESooto

31. Conversion of molecules of A to B follows a socond order kinetics. Doubling 1
concentration A will increase rate of formation of B by a factor of

P A Dos BIrfs f5ddd Eiro¥ Ko TN, A s oD I, BaY
B I Beay DENOS?

(a) 2 (b) 4
) 12 (dy 1/4

82. Velocity constant of a reaction at 290 K was found to be 3.2 x 10°?. At 300 K it will
be
290 K3 o8 0355 3K porossn 3.2 x 107 455", 300 K 34 ovd dasdob dotios:?
(a) 1.28 x1072 (b) 9.6 x107
(©) 64x107 (d) 3.2x10"

33, A first order reaction has specific rate constant of 2 min-? . The half life of the rnnctia:i

will be
(a) 1.653 min (B)  0.347 min
(¢) 2.0 min (d) 0.0347 min
25 6 (Sro¥ (903505 975 Sogi Borotian 2 26%5 PN sansS' o sgang
Sedot? .
(a) 1.6532 ®) 0.3475
() 208 (d) 0.0347 2

34. Which of the following is not state function?
€1 SoB 06" 28 o Fhoao E?
(a) dG (b) dS
(¢) dH (d) &g

Test No. : 104



35.

a1,

48.

89,

[

Which of the following is not an intensive property?

(a) Internal energy (b) Temperature
{¢) Surface tension (d) Viecosity

4 208 TRE" DB K $ifo °E5?

(8) ot 4L ®) A

(€) ®EHS Bgs (d) R,

For isothermal expansion of an ideal gas, which of the following is not true?

a¥ g Tding SArg TEBsns" S iBof T0&" Duo 5

(a) AE =0 by ¢g=0

() AV =0 d W=0

What is the criteria for spontaneity?

Bipe (SOBGE Ho SEredoB?

(a) TdS= &g (b) TdS> &g

() TdS< dg (d) dF=0

Which of the following 18 true 1or network aone?

DEBSD Bepth He Bob TRE" D8 DeEHE?

(a) —AA is+ve (b) (W, +PAV) is +ve
() W, is+ve {d) —AF is+ve

Which of the ﬂ:r]lc;wing is true for the phases in equilibrium?
g S HER U6 B0 TRd" D8 duo?

(a) dFﬂ ?'-'dFB (b) llfl'-.l'ill,qI }:EEFH
() dFy =dFy (d) dF, <dFy
Which of the following equations give efficiency of Carnot cycle

s 808 O B o0 s Sodhhn @), o Brooidi?
(a) n=(T,-T,MT;. (b) 5 =(Ty T\ T,

& »=(T-T,)T (d) n=(Ty-TT,

11 Test No.: 104
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42,

43.

44.

45.

46.

PART B — (30 marks)

Which of the following has highest radius?

G4 508 TS LS obyBE TyRrEinetin?

(@) Cr” (b) Mn*

(¢) Fe™ (d) co”

Which one is not a characteristic property of transition metals?

(a) Diamagnetism _ (b) Formation of coloured salts
(¢) Formation of complexes (d) Variable oxidation states
Ge 208 2 ePerEds $EH0 S0HYS S FoHol

(a) 5B, oBESD (b) BolHedein Doyt

(¢) Hoff ShyUtne doyeran (d)  B8he esdyries pisoey

Which one of the following transition metal exhibits the highest oxidation state?

e 808 b 30555 S e6HY ediEsn HOD BEG080?
(a) Pd (b) Qs
(e} Cr (d) Mn

The highest paramagnetism will be shown by the transition metal ion
& 208 TRE" etghY SorahHim,oBBgin BrDod SN 67 wdirs

(a) NP () co™
() Mn®* d Vv

Which of the following is not a basic flux?

e 208 ad® DB @»ﬁmg 15558 207

(a) CaCO, (b) lime

() Si0, (d) CaO
Froth floatation process is used for the metallurgy of

{(a) Chloride ores (k) Oxide ores
(e} Sulphide ores (d) Amalgams
D &% Boyitrg PFE 553 HEAH K60 TREK?

(a) Eo& L8 (b) eBy&ah
(&) Henk el (d) ey

Test No.: 104 12



7. Heating pyrites in air to remove sulphur is known as

(a) Roasling (b) Calcination
(¢) Smelting (d) Fluwang
Seybiss EofoSrdy, PR mds 34 Sabuo wdm?

(o) &FdSw0 (b)  &ysdndw

(c) @Eredo (d) ES8E Hiah

Of the following which cannot be obtained by electrolysis of the agueous solution of their

salts?

1 208 vinoos’ 80 somrinini DA oyt 2ol Bin?

(a) Ag (b) Mgand Al

(¢) Cu (d) Cr :

Which one of the following metals is extracted by thermal reduction process?
a)  Copper (b) Iron

©) Aluminium (d) Magnesium

e 208 D &%ro H> ARdH KoHE¥nos" 5yBod By

(a) 535 (b)  =Jdw

() wergnodo (@) Dofyheso

C,H;Cl+ KCN = X - Y compounds X and r are

(a) C,H, and C,H,CN
(& C,H,CN and C,H,CH,NH,

(b)

(d)

C;HCN and C;H,
CyHCN and C;H,COOH

C;H,Cl+ KCN - X - Y &' Siyvares X 508050 r e

(@)  C,H, 385y C,H,CN )
(© CHCN®Baw C,H,CH,NH, (@
Identify 7 in the following series
0 08 06 2 Mooy

E&Hi] Ale KIOH > X Ry

p Y ey 7,
(a) CH,CH.CN (b)
(¢) BrCH,CH,CN (d)

13

C,H,CN %:8a00 C,H,

C,H,CN :8a» C,H,CO0H

CNCH,CH,CN
BrCH = CHCN

Test No. : 104
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52 Chloroform on treatment with Cone. HNO, gives

{n) Chloropicrin (b) Nitromethane
(e} Pieric acid (d) Acetylene

M HOsa0E" 16 oo ST oBonm atnsd
(a) §'6'228 b) SDBS
(e) D85 el (d)  IDedS

53. Which reagent is useful in converting 1-butanol to 1-bromobutane?

1 0ogS'S 50 1-FAraogilS SrAa6" 3 o ABMMIIRR
(a) CI{BI; [h'] EI‘,

() CH,Br (d PBr

64. Lucas reagent is

a5 U8 Sodm
(a) Cone. HCl +ZnCl, (b) Dil HCl + ZaCl,
(©) H,S0,+ZnC), (@ Conc. HCl +Zn

55, mm:ﬁmun&tﬁwnhy

(a) Acetaldehyde () Trimethyl acotaldchyde
(¢) Benzaldehyde ~ (d) Formaldehyde

Te 1208 DS DB oub’ S st

(a) Sderdipl ®) @S dbwr§ips
() Bosrirk @ ok

Test No. : 104 14



FL Metaform is

bl

(a) Trimer of acotaldehyde

(b) Amorphous while polymer of formaldehyde
(c) Metameric form of iodoform

(d) Crystalline eyelic polymer of HCHO
WBHIPRO T

(a)  Jder@ipl Y, PESrY

B) e Foglipd erorin

(©)  ©ANE'PE Ay, SSALHS KSo

@ o1 G, BB oD omHomsn

Name the end product in the following series of reactions :
CH,CO0H —h_, A 2, B 08 ,(C

(a) CH, (b) CH,0H

(d) Ammonium acetate

T 208 (S50 s’ 290 oy DEYARN CH,CO0H —1 A —2 B 0% 0

(¢) Acetonitride

(®) CH, (b) CH,0H
) OBiSsahE @  &3nanS IS
On treatment by which of the following reagents, acotamide would give methylamine
(a) PCl, (b) NaOH +Br,
() Sodalime

(d) Hot Cone. H,S0,
eBED 1 B0B D SUT0E' pIToaSS 2598 e puyy

(a) PCI, (b) NaOH + Br,

(c) =05 (d) 38 mg SormpBsiim

15 : Test No.: 104
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59. Acetic anhydride reacts with excess of ammonia to form

60.

61.

ol e2radhE’ eddE edipBE 5T osm BHERE

(a) 2CH,COONH, (b) 2CH,CONH,

(c) CH,CONH, +CH,COONH, (d) 2CH,CO0H

The compound formed when malonie ester reacts with urea is

(a) Cinnamic acid (b) Butyric acid
(c) Barbituric acid (d) Crotonic acid
cfarBair oS0E JH6 BYTome Bihth TipdEns?

(a) Wanool edubo (b) 2B esiothon
() erBereargfE et (d) (5"5"0E esiydon

The azeotropic mixture of water (b.p. 100°C) and HCI (b.p. 85°C) beils at IﬂB.E*G._Whm’i
this mixture is distilled it is possible to obtain

(a) Pure HCI
(b) Pure H,O

(¢) Pure HCl and watar

(d) Neither pure HCI nor pure H,O

A% (b.p. 100°C) Bo861n HCL (b.p. 85°C) o Jealrs™E Moo 108.5°C B SRS

et oES WEHE® srofon

() s HOI
(b) %S0 b

() wdiann HOI Sobdin H4Ted

() S HCL 55 S8 HEFHh ke 5

Test No. : 104 16



o Which one of the following pairs will not be forming an ideal solution?
i

e 508 Dt LS Ty D5 5597?
(a) CyHy; and CCl, (b) CyHg and C;H,CH,
(¢) C,HgBr and C,H,I (d) (CH4),CO and CCl,

Which one of the fo ing reaction is not possibla?
k3. llowing pos

Ho 208 2 BSEdD 5o S
(a) Fe+H,50, — FeS0, +H, (b) Cu+2AgNO; - Cu(NO,), + 2Ag
(c) 2KBr+I1, — 2KI+Br, (d) CuO+H, - Cu+H,0

E_ What infrared lines are present in molecule (CH,),CO?
(CH;);C0 ge0596° Ho Sorthes BpBa?

(a) C- Hi‘str] peak at 2962 — 2853 cm ™!

(b) C=0(str) peak at 1725 - 1705 em™
() both C~H and C=0Obands

@ neither C~H nor C=0

T5. Which of the following compounds do not absarb light above 200 am?
(a) n-propyl alechol (b) Benzene

() Diethylether (d) Methyl alechol

&1 208D eeasd 200 nm Ps) S0 ProB>
(a) - dopind ®) BodS

() Tapd b @ 2096 woyren

17 Test No. : 104
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66. The number of fundamental bands possible for linear CO, molecule
Bdas CO, orH I 3508 Sfen aagan?

(a) 8 b) 4
{cd 2 dy &

67. Which of the following electronic transitions is more intense?

s $08 D Jogpol 56355 S
() n=o" b eo=o
() === d n-=z

68. Conjugated carbonyl group of C,H,COCH, appears at

CgH COCH, &" 5% Sodlus6iRd Sordrsn JN,d Erpmany®

(a) 1690 cm™ () 1700 cm™
(e 1715em™ . (d) 1680 em™

69. Which of the following objects are dissymmetric?

&0 208 D 35D e a7
(a)  Socks (b) Basket ball
() Tennis racket (d) Ones' hand
70. Which of the following conformers of n-butane has least potential energy?
(a) Completely staggered (b) Gauche form
(¢) Eclipsed form (d) PFully eclipsed

n-butane s G, D GRENSEND BB Do 38 alvoity?
® JgeIipesyd ®) TRy

(e) Wiro B30 . d) P8 tres B0

Test No. : 104 18
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2.
i

73,

4.

6.

PART C — (20 marks)

The element californium belongs to a family of

(a) Actinide series (b) Alkali metal family

(¢) Alkaline earth family (d) Lanthanide series

SO Gdio 6 Boreso D HiwowoD JobBRE?

(a) 5EEd (b) 5665 Hrevowo

(c) TV2AE evowo (d) oDt s

In the long form of periodic table, the element having lowest ionization potentials are
present in

(a) 1group (b) IV group

() VIIgroup (d) -zero group

B0 LS5 SPEE' s fo8 A Saroroh edbbite $n BE)DM ek
@ 159079 b) TS D

(&) &SP (@ =ropird

The mﬂh?.ll.u: lustre exhibited by sodium is explained by

(a) Diffysion of sodium jons (b) Oscillation of lose electrons
() Excitation of free clectrons @) Existence of b.c.c. lattice
0 S0 [SEEE der DEYREE?

(a) #*ddDo edrie TySso b) 665 dogioo Bl

(© %5 dogioe adeso (@) ot So@s [ doyedn Sk, 408
Which one of the fulluwit:;g resembles silicon in some of its properties?

e L!oa&nﬁ‘bahﬂrﬁﬂmrﬁwm 24 &t

(b)) Ga
(¢) In (@ T
Which of the following fluorides does not exist?
a 208 DD Hisys?
(a) NFs (b) PFs
(¢) AsFs (d) SbF:e
19 Test No. : 104
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76. ‘The ammonia is dried over

(a) The slacked lime b)  Quick lime

(¢) Calcium chloride (d) Phosphorous pentoxide
SRR Do Do

(a) B4 e (b) & Jyo

() sdano £ @) PHES Do

77.  Which of the following species has a trigonal planar shape
G+ 208 D ooy BE daD Ssooming o0 Mdnotdi
(a) CHj () CH;
() BF; d) SiH,
78. Which of the following behaves both as a nuclesphile and electrophile?
s 200 D8 Srg@rpd M8 dogpdm 5EP808?

(®) CH,NH, ) CHLCI
(@ CH,CN (d CH,OH

79. Which of the following liberates mothane gas on treatment with water?

Ge 2ol RG" D8 JT ol LS AP DessEri?

(a) Silicon carbide (b) Caleium carbide
(¢) Aluminium carbide (d) Iron carbide
80. When propyne is treated with aqueous H,SO, in presence of HgSO, the major produd
18
(a) Propanal (b) Propyl hydrogen sulphate
(¢) Acetone (d) Propanol
H,S0, o6’ pSis Sevo Soryfl edytns’ s5Sosm 3) &5 arasgin?
@ purdiph ®) 28 sl G
(c) 'S ) @pdoore

Test No. : 104 20
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|85,

Which of the following is not an electron with drawing group?

&+ 208 D FRrTEw Joge T S

0
+ |
(a) -OR ® -OCR
) 0
- i
(¢) -c‘,gn (d -NH-CR

Which of the following does not obey Huckel's rule?

(a) Cyclopentadienide anion (b) Cycloheptatrienyl cation
(¢) Cyclopropenyl cation (d) Cyclopenta dienyl cation
e 208 DA i psudbo lods

@ pEoiTRandR HihrS B PErapessps sessnS
© PEASE swsns @ P ot BonSS sesns
Naphthalene on treatment with acid KMnO, gives

73008 e KM, 5 susons 530

(@) Phthn]n: acid () Phthalonic acid

(¢) Phthalaldehyde (d) Phthalic anhydride

Joule-Thomson expansion of an ideal gas produces

(a) Hant (b) Nochange in temperature
(e) Cooling (d) Heat above inversion temp.
L Sl T E-gritS THEES08" asyIB

(a) ﬁ;};’m (b) A&xN6S' Srdnotith

(© 4veo

(d) 2675 apts 5 S a0
The internal energy of one mole of an ideal gas is given by

£ IS exgmraing vobss 3§ Do Jod?

@ 2/3RT ® 2/3 KT

(¢) 3/2 kT (d) 3/2RT

a1 Test No. : 104
[P.T.O.]



86.

a17.

89,

90,

How many Cl~ ions are there around Na® ion in NaCl erystal?

NaCl 3t3%06* 0% Na* eairS $oey ) Cl” oairoesos?
(a) 3 (b) 4
(e) 6 d) 8

An arsenious sulphide sol carries a negative charge. The maximum precipitating pow
for this sol is due to

mﬁaaﬁﬁmmmggmﬁmm%mwaﬁ
EDCS00EH?

(a) K;SO, (b) CaCl,

(¢) Na,PO, (d) AlCL

Which of the following has band arder of2 %_?

51 208 376" DB 25 wogs (335 SRo0EID?

(a) HCI (b) CO

(e} CO, (d) NO

A 0.6% solution of urea (MW : 60) would be isotonic with

(@ 0.1 M Glucose | (b) 0.1MKCI

(¢} 0.6% Glucose solution (d) 0.6% KCI solution

He 208 TS BOS 0.6% B (wew 0 : 60) HAMSRE IS0 SSETY 6¥or
Gotdn?

(a) 012rSRE'S (b)) 01206 KCI

(&) 0.6% RE%H ($Ses0 (d) 0.6% KCl a0

Which of the following compound has Van't HofI factor to be 2 for dilution?

He (508 2 2d0¥8e TH00D TolSFD Knto 2 dothi,

(@ K,80, () NaHSO,

.{r.'} Sugar (d) MgSO,
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